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Each of the following questions is followed by four answel. Select the +*

- correctanswer in each case. ~fo-12) 8
1

1. A charge Q is divided into two parts g and Q-¢ and separated by a distance

Y

R. The force of repulsion between them will be maximum when:

b. ‘g= 02 3 s o> Gy Y
adTE Y e S to-©) _
d. None of these %

2. Some charge is being given to a conductor. Then its potential

a. Is maximum-at surface The wmagnitude of eleckric

: ughook R
b. Is maximum at centre \%Tix‘:’é :g‘m‘ s constan

c. Is remain same throughout the conductor YFof a point octside i

d. Is maximum somewhere between surface and centre Volume electric
Potentiol d&{)qwds open s/)

- Electric potential of earth is taken to be zero because the earth is good:
a. Semiconductor

b. Conductor

c. Insulator

d. Dielectric

+ A proton is about 1840 time heavier than an electron. When it is
accelerated by a potential difference if 1 kV, its kinetic energy will be:

a. 1840 keV -E= QV

b. 1/1840 keV (1) kY
c. 1keV S
d. 920 keV Tl

b A Capacitor is charged with a battery and then it is disconnected. A slab of

dielectric is now inserted between the plates, then

4. The charge in the plates reduces and potential difference increase
Potential difference between the plates increase, stored energy

decreases and charge remains the same
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The electric flux through the surface of a sphere due to a charge q
. placed at its centre depends upon ,

a. the radius of the sphere

b. the quantity of charge outside the sphere 43 @
c. the surface area of the sphere

A the quantity of charge inside the sphere

—

=

10. Two parallel, metal plates are a distance 8.00 m apart. The electric field
between the plates is uniform, directed toward the right, and has a
magnitude of 4.00 N/C. If an ion of charge+2e is released at rest at the
left-hand plate, what is its kinetic energy when it reaches the right-hand

plate?
vb.64eV. s 3
C.32eV.
d. 16 eV = ge Xl x®
K-E= &4 eV

Xplain the concept
Intensity Discuss th
* Explaip, the concep

B Using mathematical expressions of
« frteic flux to show that how electric flux 1S maximum and minimum.

e direction as well as the unit of E

t of electric flux,







Exercise
Multiple Choice Questions
Explanation: According Coulomb’s law the force between g and (Q —q) is

- . Ak 1s for
rak (L%l) , Now substitute the values given in each option in place of . Thus

9= Q/2 the force F will be maximum.

2. (c) remains same throughout the volume of the conductor.
Explanation: A charged conducting sphere behaves like a point charge. Therefore,
Whether we consider 3 point at its surface or within the conductor the magnitude of

1
; : ! , : : = wWhere
electric potential remains same. But if we move away from its surface then V o

ris the distance from the centre of the conductor.
3. (b) Conductor

Explanation: Earth is a large reservoir of electrons. It can absorb or supply as many
electrons as required.

81011 keV
Explanation: The K.E. acquired by a charged particle when it moves through a p.d. can
be determined as: K.E. = Qv - (1)
If Q= 1e and V=1kV then K.E. =1 keV

5. (c) P.D. between the plates decreases, stored energy decreases and charge remains the
same.
Explanation: In the process of electric polarization of the dielectric material some energy
stored in the capacitor is utilized and as a result net electric field intensity between the
plates decreases. As V = Ed, therefore, p.d. between the plates also decreases. The
remains same due to the fact that capacitor is now not in contact with battery.

B a)8J
Explanation: U = % GVe=8
e ) 10uc
Explanation: In series combination the charge on each Capacitor is same. If Coq is the
total capacitance of series combination of capacitors and if v is the voltage of the
battery then, Q =CeqV = (1)
I R T S R
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Ceq Cq Cs Cs
Thus fromeq. 1= Q=10 uC
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